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QUESTION 1

You have a site with thousands of MAC addresses multihomed to two leaf nodes in an EVPN VXLAN.

In this scenario, which EVPN feature provides fast network convergence in the event of a leaf node link failure?
A. BGP Additional Paths

B. Bidirectional Forwarding Detection

C. Ethernet Autodiscovery

D. Fast reroute

Correct Answer: C

QUESTION 2

Devices spinel and spine2 have been configured as distributed Layer 3 gateways in the VXLAN topology, and devices
leafl and leaf3 have been configured as Layer 2 gateways. Device hostl must be able to communicate with device
host2.

spinel spinel
2 —
T > e
{master:0} [edit] € IP Fabric € {master:0} [edit]
user@leafl$# show vlans user@leaf3# show wvlans
w100 { v200 {
vlan-id 100; vlian-id 200;
vxlan { vxlan {
vni 5100; vni 5200;
1 }
} > > ]
b K — P
—F —3
leafl |€—— —— | leaf3
VLAN ID 100 VLANID 200
hostl host2
10.1.1.1/24 10.1.1.2/24

Referring to the exhibit, which two statements are true? (Choose two.)
A. An IRB interface must be configured on devices leafl and leaf2.
B. Traffic from hostl to host2 will transit the VXLAN tunnel from leafl to leaf3.

C. Traffic from hostl to host2 will transit a VXLAN tunnel to spinel or spine2, then a VXLAN tunnel from spinel or
spine2 to leaf3.

D. An IRS interface must be configured on devices spinel and spine2.
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Correct Answer: CD

QUESTION 3

You are configuring an IP Fabric in your data center and you are trying to load-balance traffic across multiple equal-cost
BGP routes. You have enabled multipath, but the traffic is not being load-balanced.
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userf@switch> show route 10.1.2.0/24

inet.0: 11 destinations, 13 routes (11 active,
holddown, 0 hidden)
+ = Active Route, - = Last Actiwve, * = Both

10.1.2.0/24 * [BGE/170] 01:21:08,
localpref 100
AS path: 645316 I,
validation—state: unverified
to 172.16.3.1 via ge-—
0/0/1.0
2 B 132169 Wia go-
0/0/2.0
IBGP/170] 01:092:08,
localpref 100
AS path: 64515 I,
validation—-state: unverified
> o TE2el6a30E via ges
0/0/1.0

user@switch> show route forwarding-table
destination 10.1.2.0/24
Routing table: default.inet

Internet:
Destination Type RtRef Next hop
Type Index NhRef Netitf
10.1.2.0/24 user 3 172:16.9:1
ucst 574 4 ge-0/0/2.0

user@switch> show configuration policy-options
policy—-statement load-balance {
term 1lb {
then {
load-balance per—-packet;
accept;

Latest JNO-681 Dumps | INO-681 VCE Dumps | INO-681 Practice Test


https://www.pass2lead.com/jn0-681.html
https://www.pass2lead.com/jn0-681.html
https://www.pass2lead.com/jn0-681.html

P 2L d https://lwww.pass2lead.com/jn0-681.html
aSS ea 2024 Latest pass2lead JN0-681 PDF and VCE dumps Download

—— https://Pass2Lead.com

Referring to the exhibit, what will solve this problem?

A. You should apply the load-balance policy as an import policy to the forwarding table.
B. You should apply the load-balance policy as an import policy for the BGP neighbor.
C. You should apply the load-balance policy as an export policy to the forwarding table.
D. You should apply the load-balance policy as an export policy to the BGP neighbor.

Correct Answer: C

QUESTION 4

You are creating a new EVPN and are asked to selectively accept certain MAC advertisement routes from your EVPN
peers using VXLAN encapsulation.

Which statement is correct in this scenario?

A. You can use MAC filtering to filter out unwanted routes.

B. You can use VRF import policies and route distinguisher values to filter out unwanted routes.
C. You can use VRF import policies and community values to filter out unwanted routes.

D. You can use firewall filters to filter out unwanted routes.

Correct Answer: C

QUESTION 5

A VXLAN adds 50 to 54 bytes of extra header information to an Ethernet frame. In this scenario, how would you
accommodate this increase?

A. Decrease the number VXLANS used.

B. Increase the MTU on the physical interface connected to the VXLAN network.
C. Only use switches as VTEPs.

D. Increase the MTU on the VTEP interface connected to the VXLAN network.

Correct Answer: B
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